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ENGLISH VERSION

1. Give very short answers as directed. (08) =
State the family of Sandalwood plant.
State the botanical name of Boganvel.
What 1s called Forest ?

State the name of pathogen which is responsible for Rust of Wheat. -l
What is Silviculture?

State the name of any two plants used for Hair care.

State the function of Transfusion tissue.

@R s B s

What is Alternation of generation ?
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2. Describe : (Any two) (14)
1. Red rot of Sugarcane
2. Cycas ovule

3. Citrus canker

3. Describe (Any two) (14)
1. Natural plants used for Dental care. -Eh
2. Internal structure of Cycas leaflet |
3. Importance and conservation of Forests H

4, Describe : (Any two) (14)
Classification and general characters of family Amaryllidaceae ‘
2. Classification and general characters of family Convolvulaceae

Green ear of Bajara

RAN-703
8] [3] [90]




A R LG R

RAN-1803000 10300471

RAN-1803000201030041

F.Y.B.Sc. Semester - I Examination
March / April - 2019

Botany Paper : 101
Plant Diversity

Yyl :/ Instructions

— = ~ .
43 zaida @ Raidlal Eoadl Grradl ur »iam awdl, Seat No.:

Time: 2 Hours ] [ Total Marks: 50

Fill up strictly the details of @ signs on your answer book

Name of the Examination: —
- EY.B.SC. Semester - | |

Name of the Subject :
- |Botany Paper : 101 Plant Diversity |

Subject Code No.: | 1803000201030041 |

\_ Student’s Signature

(1) 2R u RBUA B,
(1) All Questions are compulsory.

() €25 Uresl UHIA AN O,
(2)  All Questions carries equal mark.

O.M.R. Sheet @241 il«il 210104l YUl U
O.M.R. Sheet<] wig9n 144 .
Important instructions to fillup O.M.R. Sheet
are given on back side of the provided O.M.R. Sheet.

RAN-1803000201030041-D | [1]

P0067

[PT.O.]




(1)

)

3)

(4)

)

¥ys3 <fl2ledt Sl su1 ot aezuld 87

(A) sieoryiicry (B) sallisisex
(C) ¥sRey (D) [slasen
Mucor is belongs in which of following cohort ?

[A] Conjugales [B] Chlorococales
[D] Mucorales [D] Filicaies

“Al=i<fl A5l 51 Gls2RuL k) Heam] S181AL Aot U B 7

(A) egladlsis (B) [aloul sl

(C) Hledilsise (D) HSsisisles

Which of following bacteria responsible for occurance of Kolera disease in
human?

[A] Staphycoccus [B] Vibrio comma

[C] Meningococcus [D] Micrococci

Al2ell US| 241 Us1Re TUARYS sRARAL g2 €l B 7

(A) o8 29U (B) 216125 294

(C) [dsey A 214 B oid (D) Gz Usl 23y <l

Which of following type of respiration indicate by Mucor during oidial stage ?
[A] Aerobic respiration [B] Anaerobic respiration

[C] Option A and B both [D] None of above

RULRIPLRRIAL Yoyl QAR ViRIS s21 2a3uul daldd am § 7

(A) uiglq (B) 2213

(C) el («flls) (D) 21l

In which form food storage in zygote in initial stage of Spirogyra ?
[A] Protein [B] Starch

[C] Lipids [D] Todine

wuslale 29 9 ?

(A) olseRuinl [Grad dsules goidl e
(B) el [Aedd Axtifais soidl e
(C) dladl [Bda dsilds zoidl vieud
(D) 5l [ daulas 2ol e
What is Mycology ?

[A] Detail scientific study of Bacteria

[B] Detail scientific study of Virus

[C] Detail scientific study of Algae

[[D] Detail scientific study of Fungi
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' (6) 32alls cls2Raidl Al W dousie wadl Gad 8 A g sea ?

E (A) [udl (B) [0l

‘ (C) sl (usdl) (D) [dseu A 214 B oid
What is called cylindrical appendages on the surface of some Bacteria ?
[A] Pilli [B] Fimbriae
[C] Flagella [D] Option A and B both

(7 AlR2lsHi ol ML detulds St s2a) Mz, ondl Bauaqion Siv sup 4@

2y ?

s in (A) 2ieisin (B) [ctotsin i
(€) owysiy (D) Guz sl vy «fg
Bigger than vegetative cell,thick walled cell known as which name in Nostoc ?
[A] Heterocyst [B] Disc cell
[C] Gamete cell [D] None of above

(8) clseRulel A1l Us] 541 Hoy o] 97

(A) 2urRisiEl (B) eyivyisill

e (C©) Weadl=us , (D) GWRisd auy [aseyl

D Which of following main classes of Bacteria ?
[A] Spirochetae [B] Pluroneumonia
[C] Rickttisiae [D] Above all options

(9) RURKIPUMRIAL 2p{dP{lorvedel £20U1A 9 Geust gy §?

(A) A4 oflony) (B) 214 ofloay,

(C) 2Alalbis ofloay, (D) Gur Ul 23 g

Which of fillowing types of spore arise during parthenogenesis in Spirogyra ?
-[A] Zoospore [B] Aplenospore

[C] Azygospore [D] None of above

(10)  loflt e w13 A3ar Ag] st s syaieisR 9 2

(A) Rieifus arfadla (B) wuRed] ausfadlx |
(©) ~yHigifus qusfaila (D) [Rizifus qsf2adla

Which of following viruses responsible for yellow fever ?

[A] Pnurotropic virusis [B] Respiratory virusis

[C] Pnumotropic virusis [D] Viserotropic virusis
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(13)

(14)

(15)

FULERPIRIAT wU(Eucu] oq UzISR <dlasgll 20da gy 8§ 7

(A) 24l 9y B) 34l 9z

©) ¢dlqo (D) ¢l q¢

How many stripe shape chloroplast occur n primodia of Spirogyra ?
[A] 2to14 [B] 3t012

[C] 8to10 [D} 8to 19

Alabett sl 521 o sl oIRsu] 234 93] Siv 87

(A) aAleiRulas saseqo (B) s9uG 2¢

(€) [Asey A 219 B o9 (D) Guz Us] wiy «fg
Which of following parts made up of structure of Agaricus 9
[A] Vegetative mycelium [B] Fruiting body

[(C] Option A and B both [D] None of above

$i SR ellagymid [l adly widuai 2|9 97

(A) .34 21y B) 220, wipiop

(€C) ULs¥E yiq) (D) Ulellazy saqy

Who is known as father of Phycology of India 2

[A] G. M. Smith (B] M. O.P. Ayenger

[C] Prof. Karamchand Maheta [D] Prof. Shivram Kashyap

At Ul sur ellamunllz) Boayj FURRIURIA 2 ¢¢ o] Y] ?

(A) @l wiq. . opzy, qce (B) 2<tiql, qcye

(C) U wH, 3ece (D) R, 1eey

Which phycologist suggest 289 species of Spirogyra in the world 2
[A] A.L. De. Jussieu 1789 [B] Randhwa 1960

[C] Propar Dram, 1689 [D] Rese 1965

s clseRuiedl wys squwd) UEIYSA A28 Geunt 53 ) oy 588
(A) olxflay vy (B) ols2Ru gz

(©) el gy (D) ARl 21929

Some groups of Bacteria form mucilaginous condition, which is known

as
[A] Bacillus stage [B] Bacterium stage
[C] Zoogloea stage [D] Sarcina stage
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(16) el s0UG A 21da ucls Uieflui 59 Joa ofloagpll Geust gy 57

(A) €2 (B) din
i (C)- s (D) A5l

How many total spores produce in each Asci in fruiting body of Lichen ?
[A] Ten [B] Sixteen
[C] Eight [D] Twenty one

a7 A2 U5l 5 Afeuedl uord viaza sfqy yad] H) 7 -1
(A) slasl o/ (B) udu |
©) el (D) »ilalvg i
Which of following stage is not found in Virus ?
[A] Bud formation [ B] Penetration
[D] Multiplication (D] Adsoptation

(18)  cusleni «llAd1 Usl st UsiRel oflong] giRL 2400 usyee By B 7

(A) =Rl (B) 2Rl !
(©) [sfadl oflonrgy (D) [Rgailsa

A sexual reproduction take place by which of folloing spore in Lichen ?

[A] Soredia [B] Isidia

[C] Pycniospore [D] Cephalodia

(19)  <Alaedl Us 525 salami vid:elloas) sicn ud 57

(A) Nostoc calcicola (B) Nostoc endophyllum

(C) Nostoc microscopicum (D) Nostoc punctiforme

Which of following species having endospore ?

[A] Nostoc calcicola [B] Nostoc endophyllum
- [C] Nostoc microscopicum [D] Nostoc punctiforme

OB 20)  auhudi Yl e A 84 ded oL Wa| 7

(A) sweller3en ®) Wl
(C) A0l (D) d4 !
Which of following substance presence in capsid of Virus ? |
[A] Carbohydrates [B] Protein

[C] Lipids D] il

067
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(22)

(23)

(24)

(25)

et U5l 5l Rsey yaiorg <o) 7

(A) dludisin] - wropuy (B) sdiRisiaa] - 2upmzioynuz)

(©) slolisiuad] - 2531510y (D) zilgtadl ~ iellaiugidal
Which of following option is mismatch ?

[A] Cyanophyceae - Sargassum [B] Chlorophyceae - Spirogyra
[C] Pheophyceac - Ectocarpus [D] Rhodophyceae - Polysiphonia

ALY Usiel cls2lulel wade |3 06 su) UHERHL 2] 2019 B 7

(A) ddigmz (B) l2tidisue)
(C) slisiua (D) 42l s1ugl
In which division all types of Bacteria included 9

[A] Thallophyta [B] Cyanophyta
[C] Schizophyta [D] Metaphyta

A2l et U st USR izl yoyeret g, 2l ?

(A) Yo 512 (B) »Auvigd gl

(C) eiHbilu g (D) 2lMsiy g

Which of the following method vegetative reproduction never done in Nostog ?
[A] By means of conjugation [B] By means of Hormogonia

[C] By means of Heterocyst [D] By means of fragmentation

S22 RuY ] ois3Buy] — —— uEd g1 usIUBRG0 Geun gy )

(A) eysiAs (B) 43R«

(C) cibrictay (D) 2UsiotseRuy
Light rays arise from _ substance in kotobacterium ?
[A] Lucoshine [B] Lucipherin

[C] Beggiatoa [D] Rhodobacterium

{2t U4 s} Piseu qufua viqaglld wiis) & 7

(A) 26U sl deizuf Qe - Slols) Hladels el
(B) Llousk el asat - {iRpd) gy

(C) esule/ Yssin oyl iy - i3l 5o¢

D) [Rsieusik - dsallelloy iy

Which of following option is false in the reference of virus ?
[A] Rod shaped plant virus — Tobacco mosaic virus

[B] Sphericalor animal virus — Polio virus

[C] Tedpol / Sperm shape virus — Bacterio phase

[D] Triangular virus — Vaccinea virus
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@6) <Ml Ul sl daulal URBQad] g s edl ?

(A) olasr<dRs (1¢¢e¢) (B) 48 wsR (1¢<%)
: (€) Badizsl (1¢ez) (D) 2dsoaies? Al (1e¢)
| Which of following scientist invent Penicillin ?
[A] Biejenrick (1898) [B] Louis Pasteur (1884).
! [C] Tvanovsky (1892) [D] Alexander Fleming ( 1928 )

@7) ARl Ul 58 Qsiq ois siiaami Guaioll B?

(A) “adl (B) ulezsyzl

(C) S=slsiiA (D) [l

Which of following Lichen is useful in the preparation of bread ?
[A] Evernia [B] Peltigera

[C] Endocarpon [D] Arvenia

(28) MRl U UskUi «lAdl Usl g sdal wad a4l 7

(A) shuleansan (B) $iMkws

(C) SNz (D) GuR US| au [aseu)
itoc ? Which of following not found in Premonera live types ?

[A] Cell wall [B] Nucleus

[C] Cytoplasm [D] Above all options

(29)  clseRul gov T, ui DNA uHIQ1 dog €iu 872

(A) 204l 30 % (B) ¥C %

C©) o= % (D) 104l 20 %
How much DNA volume in Bacterio phase T,?

[A] 20to 30% [B] 40 %

[C] 06 % [D] 10to 20%

(30) kel fAeuaui daql W] G4l wwd ay §?

A) dla (B) dlsfien

(C) uma syy«i mgllwil (D) GuR Usl aw [Gsel
Which of following is included in division Protista ?

[A] Algae [B] Lichens

[C] Animals of Protozoa group [D] Above all options

P0067
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(31)  diRBes s ol ol olddg Gy 97
(A) *ddsell (B) dRRisl
(C)  dRISEL (D) [Aseu B 214 C o
Which of following two parts forms the Centrosomes ?
[A] Leucoplasts [B] Centriosphere
[C] Centriole [D] Option B and C both
(32)  HerdlHl il Ao Al 18] su cls3Rul syt §7
(A) $islo B) 2l sislS
(C) el sisu (D) [l sisul
Which following type of Bacteria is responsible for Pneumonia in human ?
[A] Coccoi [B] Stepto cocci
[C] Meningo coccus [D] Diplo coccus
(33) sl gt 2qasld dlEd4 U5 sdl Qseu Rl 7
(A) Ried g5 (1€un) (B) o2 ¢5 (1£2)
(C) 2oid g5 (1gug ) (D) o2 ¢y (1€€8)
Which of following option is correct in the invention of cell ?
[A] Robert Hook (1655) [B] Robert Hook (1665)
[C] Robert Hook (1656) [D] Robert Hook (1666)
(34)  dled ewwmi il vl 9wy 7
(A) o< (B) d+i¥
(C) R (D) Guz Ul dum [dsel
What is the meaning of Virus in Latin language ?
[A] Poisonous fluid [B] Venum
[C] Poison [D] Above all options
(35) 2RI sk 1341 W) su1 ueidld] wded]l diu s 7
(A) Aeydis (B) 519l
(C) L 515 (D) [Ascy B 214 C o1
The cellwall of Agaricua is made up of which of following substance ?
[A] Cellulose [B] Chitin
[C] Fungal cellulose [D] Option B and C both
RAN-1803000201030041-D | [8] [ Contd. &
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(37

(38)

(39)

(40)

A3l Wl rurRiotazidl 565 ol geue 419 $7?

(A) FUMRIPIMRL g2l (B) 2UMZPUARL oA+
(C) FUMPIMRL SISAZ s, (D) GuR Ul A [aseul
Which of following species of Spirogyra having hold fast ¢

[A] Spirogyra adnata

[C] Spirogyra hygrometrica

[B] Spirogyra jogrnsis
[D] Above all options

wlayl alssquidl sul 2o qagaui 2ud 8§ 7

(A) szl (B) \lui

(C) did (D) odold]

Which of following colour produce from Parmelia Lichen ?
[A] Golden [B] Yellow

[C] Red [D] Blue

RUIRPIARIAL 2A5[Ad syeysiviid o sdaum ? .
(A) ud olloay (B) »aq ollong

(C) UAlusd olloag (D) GuR Usl Aum [aseul,
What is called non fertile gemets in Spirogyra ¢

[A] Motile spore [B] Non motile spore

[C] Partheno spore [D] Above all options

Rl aldu sasdgail sisoflon i sdsima 23e ) €16t o] 22+l oled
e - sdqp,

(A) UsHlofluy (B) RIS

(C) ATHIgRI (D) ALAIHIE

In Agaricus Secondary mycelia join with each other and form white thread like
structure isknownas 7

[A] Rhizobium [B] Rhizoids

[C] Rhizophora . [D] Rhizomorph

<dlziett Ws] s o/etinngl Aot Fsgly ottt B9

(A) bRia (B) diioilet

(C) €lEfgiored URlsaIsss (D) Gulsd axm, [Gseul
Which of following pesticides make Viruses deactivate ?

[A] Crisole [B] Lysole

[C] Hydrogen peroxide [D] As above all options

RAN-1803000201030041-D | [9] [PT.O.]




(41) <l Usl 55 i Hidd viRes a3 Gudlell ©7?
| (A) wlé (B) l2iRa
(C) [4seu A uid B oid (D) Guz sl 5155 wel <l
Which of following lichen is used as human food ?
[A] Parmelia [B] Cetraria
[C] Option A and B both [D] None of above
(42)  HiduyyeHi AR Ul giq el
(A) DNA (B) RNA
(©) <yl w2l (D) GURsA c¥IH [Asey)
Which of the following. _ absence in Monera group ?
[A] DNA [B] RNA
[C] Nucleoprotein [D] As above all options
(43)  GRew 4 Geiew B,
(A) dlan (B) £l
(C) [Aseu A 14 B (D) Guz sl 203y Al
Usnea is an example of .
[A] Algae [B] Fungi
[C] Option A and B [D] None of above
(44) <=l Ul Y24l oflongyedl 21 3l €l 97
(A) 2SR (B) olglH] 2211
(©) [Erau Eaaaal (D) Gur WSl cmuy [Aseul
Which of following type of structure of Mucor spore ?
[A] Round in shape [B] Brownish coloured
[C] Wall bilayered [D] Above all options
(45)  «Aleldl Usl sul 2aui Seslsiia dlhededl WS Al Gudlal sl 2418 8 7
(A) “aH (B) @R,
(C) 4ldst (D) oAyl
In which of fbllowing country used Endocarpan Lichens as a vegetables ?
[A] Egypt [B] India
[C] Srilanka [D] Japan
RAN-1803000201030041-D ] [10] [ Contd. &
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wHRsUAL $0UG 26 (1Al s su1 ol oiddl iy 9 ?

(A) 94 (B) 949«

(C) ASHIHIE (D) [Aseu A 214 B

The basidiocarp of Agaricus is made up of which of following parts ?
[A] Pileus [B] Stipe

[C] Rhizomorph [D] Option A and B

=il 5] 555 aeznlcnie]l 2ii2eild Rogami »pa & ?

(A) uSARla (B) wHelu
© [l (D) 2NiRilad
Which of following plants produced Orcein dyes ?
[A] Pertusariya [B] Parmelia
[C] Cetrariya [D] Orchelino

A2 5] 54 e ey Gelsael 4l ?

(A) $ld) (B) oh=aigly)
€) BlRiu (D) didizl
Which of following is not an example of Foliose lichen ?
[A] Collema [B] Xanthoria
[C] Physcia [D] Tecanora

218s 9ol ueala uHgt dioy sHHi vlisdl.

1. Ml 2 kil 3. Hewflel ¥ 821 sz walidlzel

¥ 2, 9,1, 7, 3 (B) 1,2, 3, ¥, U

(C) 2,3,9, Y% (D) U, ¥, 2, 3, 4

When on inflorescence axis flowers arises basal to apical side, this type of
arrangement knownas ¢

B2, 1,5,4,3 [B] 1,2,3,4,5

e 3.1, 5,4 [D] 5,4,2,3,1

iRl L QusTeted] 555 oAl essaitel]l URARY] Guyiofl 97

(A) yHidl B) »dlqul

(C) ufeerzl (D) izial

Which of following species of Lichen is useful in treatment of Rabies ?
[A] Pnumoneria [B] Arvenia

[C] Peltijera [D] Rosella

N e
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1) s wsh wiowiiae wen sl yell udidl b dd sy wel sdam?
a) SARISIR c) uRlzext
b) AIE d) s
If Incisions on leaf reach up to the midrib, which type of leaf it is?
a) Reticulate - ¢) Phyllode
b) Simple d) Compound
2)  etguell gl sl aqpudl Wi odar wd ©7
a) sllnal c) Hibiscus
by H uell | d) (a) i (b) oid
Multifoliate leaves are found in which of the following plant?
a) Bombax c) Hibiscus
b) Alstonia . d) Both a and b
3) 59 adudl Wi dlifEbeny giu 8,
a) Parallel palmate c) Parallel pinnate
b) Reticulate palmate d) Reticulate pinnate
Venation in banana leaf is of ............. type.
a) Parallel palmate ¢) Parallel pinnate
b) Reticulate palmate d) Reticulate pinnate
4) il Yo daaddl Ggad wigll w6,
a) 2fesq ) @ye
b) il d) &el iy
Tap root system generally develops from ................ of the embryo.
a) Radical c} Plumule
b) Branch d) Embryo sac
RAN-1803000201030042-D] [2] [ Contd.
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yoiedl Al ol GEMA Sdl el ©97

a) LExogenous c)
b)  2ulHla dy
Branches of roots are .............. In origin
a) Exogenous c)
b) Racemose d)

a3 YO <l [As1 4l ¢ 97

a) -+ve ®jddl c) +ve oralqadl
b) -ve ®adl d) a) »d c)
Growth of Respiratory root is always of following type.

a) -+ve geotropic ¢) +ve hydrotropic
b) -ve geotropic d) both a and ¢
R 2El Yo s adzudl wiosdar wa 8.7

a) [awgl b) faar

b) »lisls d) 44

Epiphytic roots found in ...

a) Neem ¢) Avicinnia

b) Orchid d)} Banyan

2904 Yo 585 qedudlul odal wa 97

a) [Quai b) [aar

b) 2isl¢ d) s

Respiratory roots are found in ...................

a) Ficus ¢) Avicinnia

b) Orchid d) Banyan

[3]

Endogenous

GuzHil >y gl

Endogenous

None of the above

P0068
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10)

11)

12)

RAN-1803000201030042-D]

wilEl Yo 585 adzudlML oddl WAL 97
a) il
b) isls

Climbing roots are found in .......cccereeen. :

a} Centella

b) Orchid

Al A 58 adudlMi sdal WA 97
a) bl

b) 4 sedid

Glandular hairs are found

a) Urtica

b) Jetropha

usis 525 55 Aqudldi oAl w97
a) 2l&lsl

b) ollan

Thorns are found n ... :
a) Rose

¢) Ziziphus

etilRale], UM A g 87
a) dla

b) HiIA

What is Funaria commonly known as :

a) Algae
b) Moss

[4]

b)
d)

d)

b)
d)

wigell et
A5

Pothos

Cycas

[Ad12

w4541

Avicinnia

Calotropis

o124l

oliolge

Acacia

Bougenviella

Hi&s

ez [Hes

Mold
Water silk

[ Contd
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13)
a) <RYIMssy
b) HIEIAHOY
Antheridia produces ...................

a) Male gametes

b) Female gametes

14) wapl o sl g 97

a) Wl 2d vidlorugld < alingl
b) ViRl ded

What is the function of Rhizoids?

a) Water and mineral absorption

b) Food transportation

15) [Goil uoved HIZ syeyords wiazul
a) Sy<yil
b) [ciovg]
Gametophyte stage produce

a) Gametes

b) Spores

16) [a-»icll adzulaui Bl wsr<ist
a) [&1001] oy«is

b) dezudly

Sexual reproduction in bryophytes takes place in

a) Gametophyte

b) Vegetative

mtd. RAN-1803000201030042-D]

[5]

(610019
w1l yoreytiiedl Sin

Spores

Pre antheridial initial

Y6y ele,

Guznig]l »isy, gl

Reproduction

None of the above

c) suyal
d) sidle

for reproduction
¢) Rhizoids
d} Tuber

vazul Hi oA 8.
C) Oy Or<s
d) Gunidl ik «el

¢)
d) None of the above

Sporophyte




17)  »is sin sal ddzudls wioe wi wol 97
a) Usr<utill c) WA
b) =llorey audl dy efloa a9
Egg cells are found in which of the following plant organ?
a) Antheridia ¢) Capsule
b) Archegonia d) Spore sac
18) s adudls 2o A4l Yw Gwr [Usnd wil 97
a) MR )  Yoreutlel
b) ooy d) @ilysadsiy
Operculum lid is found on mouth of which of the following plant organ?
a) Capsule ¢) Antheridia
b) Spore d) Archegonia Spore
19) AL B e, [GadiRedl Hud iRl 9.
a) South Asia ¢) America
b) Europe d) Africa
Rice is a staple food for ................ region
a) South Asia ¢) America
b) Europe d) Africa
20)  Wledl SRS Ad M8 UL e % siofllzd gl 2idel g 8
a) 80-90 ¢) 50-60
b) 20-30 d) 25-50
Pericarp and embryo of rice grain contains ............... % carbohydrates.
a) 80-90 ¢) 50-60
by 20-30 d) 25-50
RAN-1803000201030042-D} [6] [ Contt



N ETEEE L RS % 25 wuddl v 9,

a) 10 . c) 30
b) 20 d) 50
Sugar cane generally contains .................... % sugar
a) 10 c) 30
b) 20 d) 50
e g ¢l o uedl Ay Gewigd R 9.
a) USA c) India
b) China d} Russia |
07 S is the highest Sugar producing country in World
a) USA b) China
c) India d) Russia
23)  liotid IR v, Ugld gl Ml »ud 9.
a) ofley ) iw
b) s4H dy [y senr
Mango plant is cultivated usin;g .................. propagation method
a) Seed ¢} Grafting
b) Cutting dy Tissue culture
8, 24) ol Q3UMAS AlH e 9.
a) Mangifera Indiaca ¢) Solanum Melongena
b) Solanum Tuberosum d)  Guniyl w3 el
Scientific name of Mango iS ......cccocceveevnn.ee..
a) Mangifera indica ¢) Solanum melongena
b) Solanum tuberosum d) None of the above
=
atd. RAN-1803000201030042-D] [7] [PT.O. &
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25) ol aduld Al e ap gseie ails Guuidll .
a) Seed c) Leaf
b) Fruit d) Stem
.................. part of Brinjal plant is useful as vegetable
a) Seed c) Leaf
b) Fruit d) Stem
26) Funaria €l .oooo.ee... sl sacflu 9.
a) Fhygrometica ¢) F. americana
b) F.leptopoda | d)  Guruidl »i3u <l
The most common species of Funaria is .................
a) Fhygrometica ¢) F.americana
b) Fleptopoda d) None of the above
27)  9dla adzudls sidl o wisolloadl uad qRUEHL UiNs g2sl 9Rd WA
B Al i, ol £
a) ollels c) Y™y
b) uslast d) 5aid (Callus)
If living plant cells are kept in close contact with each other in nutrient
medium, ..oeeeerenennn. formation takes place
a) Bonsai ¢) Flower
b) Adventitious bud d) Callus
p1:3 S qeiuedl 9ol Hi [gsalld ud-ysred oAl Ha B,
a) [l c) &l
b) idil d) GuHig] »iu <l
..................... plant group comprises of biciliated antherozoids
a) Brayophyte ¢) Fungi
b) Pteridophyte d) None of the above
RAN-1803000201030042-D] [ 8] [ Contd.
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29) sl W2 2] [Bfd dey 7

a) Yoreyaledl ol Rsiu 2l saeyrudlell udan w8,
b) 2iloa=ytedl <l [As yoreqrnd]l o] udar w8
c) Mor=ytlidl i 2lloaeyendl B wuw Gy ©

d) Guruidl i adl.

Following statement is true for Funaria plant

a) Antheridia matures before archegonia

b) Archegonia matures before antheridia

c) Antherida and Archegonia are strﬁcturally similar

d) None of the above

30) YoHelsy o udq [Aetord ... €l 89,
a) g c) BURHIA
b) Gloj : d) UHIAR
First division of zygote is ......,............
a) Transverse ¢) Dissimilar
b) Vertical d) Parallel
31) Funaria <l ....o.ooco......... woald (g2l .
a) F.Hygrometica ¢) Fleptopoda
b) F.americana d) Gw Hil 2By 4d]

The only monoecious species of Funaria is ............ . .
a) Fhygrometica ¢) F.americana

b} Fleptopoda d) All of the above

P(068
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32) el Wiyl € <l d2dl R 2udd € 97
a) 1 ¢) 3
b) 2 dy 4
How many rings peristome teeth are present in funaria ?
a) 1 gy 3
b) 2 d) 4
33) gl Wi Wyt €l dedl er wida g 97
a) Yoy c) olloagsras
b) »isslu d) a »d b od
Prothallus of Nephrolepis represents .........ccoooveeenn.. generation.
a) Gametophyte ¢) Sporophyte
b) Haploid d) Both a and b
34) sy adzudl Wi wids slasl ol w2 wiAd] M ¢
a) Usls c) Ha
b) ugl d)  ywy
Cycas plant asexually reproduces by adventitious buds, which are
PSSl (@, pemr e
a) Stem c) Roots
b) Leaf d) Flower
35)  sbH uatq wald | o addl wiot A séal Hl @A 9
a) 2215 ) Ml
b) Usis 5251 d) ol
A plant used in artificial propagation having roots is called as
a) Stock c) Scion
b) Stem cuttings d) Bonsai
RAN-1803000201030042-D]| [10] [ Contd
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36) Brayophylum a«2udl ... sRL Ut 52 99,

a) Usls c) ya

b) el d) ysy
Brayophyllum vegetatively reproduces bY e,
a) Stem ¢) Roots |
b) Leaf d) Flower

-

37) @dld arudls sl A wisolla i ad wuE W Wus w28 qu9)

AUAUL 2 Al o

a) ollvlr) c) ywy

b) uslast d) $4ld (Callus)

If living plant cells are kept in close contact with each other in nutrient
medium, .................... formation takes place

a) Bonsai : c) Flower.

b) Adventitious  bud d) Callus

38) laamidl sl vid: a4 4 wod) Gieig Wi wer 2 B 9
a) TAA c) wladlq
b) waldls 243¢ d) GuHia]l sis «el
Which of the following hormone helps in development of roots in plants?
a) TAA ' . ¢) Ethylene

b) Gibberlaic acid d) none of the above

39) ddamidl sl dla ovdls v afl Guulel] &7
a) FURRIoLRL c) 2y

b) sragifsluiiq d) diedis
Which of the following algac can be useful as bio-fertilizer?
a) Spirogyra ¢) Nostoc
b) Hydrodiction d) Volvox

068
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41)

42)

43)
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................ vz adzudl 3ol eved saRiml ol odiaqr W w0d 87
a) sAl™ viidR ¢) DAP

b) 2l Yol (Green thumb) d) yz

Manure produced from animal or plant waste material is called as

a) Synthetic fertilizer c) DAP

b) Green thumb d) Urea

Hlaediser dlamt apzisre 2qud ol GBar o SIUHE 2 9,
a) el c) YUsQlis

b) HEds d) salls

In Cyanophyta members Nitrogen fixation taking place using specialized
structure called as ............. .

a) Heterocyst ¢) Collenchyma

b) Parenchyma ' d) Sclerenchyma

UAMGlls iRl agusdl Guoel ool dl pH g 9,

a) i<l ¢) 424

by olefls d) w242 Al <l

Excess use of synthetic fertilizer makes soil pH .................. %

a) Acidic ¢) Neutral

b) Basic d) No effect

wildl wigcaion @Grarui sll B usdl vidl wd Gudell §7 |

a) Al BRud uedl ) 2us (a8 Yegdl

b) saRl Rand uedl d) Guznidl s «dl

Which irrigation method is best for agriculture in water deficient areas?
a) Flood irrigation c) Drip irrigation

b) Sprinkler irrigation d) none of the above




44) WHC o 20 A 9,

a) Water Hardening Culture ¢) Water Holding Capacity
b) World Health Cente d) Gwnidl si8 «¢l
WIC 1s an abbreviation for ................
a) Water Hardening Culture ¢} Water Holding Capacity
b) World Health Center d) None Of The Above

45) Excurrent MSR «ll Usi¢ i ... UsReAl AL Shcl WA B,
a) WHla c) Yl
b) ulHld d)  Guanel iy w4l

Branching pattern in Excurrent type of stem is ............. ..
a) Cymose ¢) Random

b) Racemose d} None of fhe above

46) ousll aszulini epaild sef g 97

a) AUl Uores c) [Qoll wsyead

by [& [doll usred d) a) ud b) oid

What 1s the function of Runner in Brahmi plant?

a) Vegetative reproduction ¢) Sexual reproduction

b) Bi-sexual reproduction d) Both a) and b)
47)  saR usis <l oMo A v due s34 gl ou © dl ad

.............. 5669

a) 25l Hall c) vy

b) 5 d) am ¢

When underground branch of the stem becomes fleshy by storage of
food material, it is called as .................... .

a) Rhizome c) Tuber

b) Bulb d) Corm

RAN-1803000201030042-D] [13] [PT.O.]
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43)  ugl A Usls s W Rl 9 Als § iR 2l 4 odg €ld dl ad
L P &t '@
a) Cladod c) 42 Usls
b) Phyllode d) g2 uel
! A leaf like metamoiphosed stem consisting many node and internodes is
called as ...
a) Cladode ¢) False stem
b) Phylloclade d) False leaf
49) sl adrudlui usllsn Yy odar wa 87
a) 5\'31 540 | c) d2LQil
b) oradl g2 d) 2Hlasy
Leaflet teﬁdril is present in which of the following plant ?
a) Passion flower c) Pea
' b) Wild pea d) Smilex
| 50) sl adudl wigul Al 97
a) dlg <uil ¢) Aol
b) wlsd slH A4 d) 24lasu
Which of the following plant is an example of hook climber?
a) Bignonia ¢) Rose |
b) Antigonon d) Smilex
RAN-1803000201030042-D] [ 14 ] [ Contd.
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4) Botany Paper - 201

-

(Plant Physiology, Plant Ecology, Plant Anatomy, Medicinal plants

and Plant Pathology)
Time: 3 Hours ] [ Total Marks: 50 'i
YA« : / Instructions |
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w (Botany Paper - 201 2
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2, aulal (515w ol)

1. usiirawesd use wlkul
2. ordig 6l aqzulaxil

3. R4l Al Ul

3. aulal 518 uL ol

(1) wro el el
| (2) »irglld aidzulds am, g0, Gudicll el 214 Guuidl
i (3) »uf Herw
Y. aulial (518 ugi ol)
| (1) usIR=EAMR W 1R s3cl Uleoroil

(2) wssgt 2id YRRge

(3) uc wdlya

‘ ENGLISH VERSION

1. Answer the following :
(1) Give example of imbibition.
(2) What is Paratonic movement?
(3) State the types of chlorophyll.
(4) What is ecology?
Y ' (5) What is starch grain?
‘ (6) Give the name of pathogen which are caused citrus canker.
(7) Give the botanical name of Ginger.

' ‘ (8) Aloe belongs to which family?

' 2. Describe (any two)
(1) Light reaction of Photosynthesis
(2) Hydrophytes
4 (3) Red rot of Sugarcane.

| RAN-1903000202030041 | [2]
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14) 3, Describe (any two) (14)
(1) Simple permanent tissue
(2) Adhatoda: botanical name, family, useful part and importance
(3) Protostele

LK) 4. Describe (any two)
(1) Factor affecting photosynthesis
(2) Starch Grain and Raphides

(3) Conjoint Vascular Bundle

~1903000202030041 |
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English Version

L. ANSWER THE FOLLOWING

)
@)
()
4
&)
(6)
(7)
(8)

RAN-7041 ]

What is imbibition?

Name the sac like structure in chloroplast.
Give the examples of chemotactic movement,
Give the examples of amphibious plants.
Explain: cambium

Location of Sphaeraphides

Gtive the botanical name of Giloy(Gala).

State the family of Shatavri.

[2]

(2%)

(8)




px Describe in short (any two)
(1) Pigments
(2)  Hydrophytes

(3)  Secondary growth in root

3. Describe in short (any two)

(1)  Autonomous movement i

(2)  Aleurone grain

(3)  Ardusi: botanical name, family, useful part and importance ' ]

4. Describe in short (any two) (14)
(1)  Starch Grain and Raphides
(2) Conjoint Vascular Bundle

(3) Adaptation of xerophyte plants

ey

AN-7041] [3] - [90]
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2. asial: (An d ol ) (%)
9. [Gafari Mgl ueuRdimedl sl
2. uRMA yulewadi usrl
3. AlMsAA R U

3. agial: (A del) (1%)
q. aAsidRs wetlaetiudi usil
2. AsAAl WRlsidl 2idRs wruxl
3. orly [Arudl uskl

¥. qglal: (aH d o) (a%)
q. szl o aollsel v ddi e 4zl
2. ARsAAL uanyodl AiaRs AUl
3. 6/%ldsd, Hecd idd WAL

ENGLISH VERSION

Instructions: _
(1) Answer the questions with neat and labeled diagram.
(2) Figures to the right indicate full marks of each question.

1. Give very short answers as directed : (08)
Define weed.

State the floral formula of family Convolvulaceae.

Which symbiotic éxample shown in corolloid root of Cycas ?

In which plant show verticillaster inflorescence ?

State scientific name of any two plants of family Amarylilidaceae

Which type of placentation shown in Tomato 7

Define Aestiation.

Cycas known as which alternative name?

o 1 Sugen B I~

2 Describe : (Any two ) . (14)
1. Causes for Dominancy of Invasive Weeds
Types of Cymose inflorescence
3. Cycas male cone

‘ ’ RAN-1903000202030042 | [2] | [ Contd.




3. Describe : (Any two ) (14)
1. Types of alternate phyllotaxy
2. Internal structure of Cycas leaflet
3. Types of placentation |

4, Describe : (Any two) (14)

1. Classification and general characters of family Nyctaginaceae
2. Internal structure of Coralloid root of Cycas
3. Importance and conservation of Forest

RAN-1903000202030042 | " | [ 2840 |
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